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sluriggs Oararerayn. FsiLSallsy Gempullmiiear emmd
sesraTestiviurenfi b o_I_atqurss 6sflaillsseyn.

2. B (oevevgl) as@uy  ewullwer  wIEGWL TSNS GW
I3 5BHTyRusHEGI LuSTUBSS CousRT(BlID. LIL BIK6T suedTausDE,
ClsiTHlsy LIwsiTUBISS6LD.

1. Check the question paper for fairness of printing. If here is any lack of
fairness, inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline and pencil to draw

diagrams.

ugH — | (e_ullfl — greugailued), ugd — ll (2_udfl — alleviidlwed) sHeatlsgeat
aflen_ggmrefsy allsnL_weflsseayb.
Candidate should answer Part - | (Bio-Botany) & Part - Il (Bio — Zoology)

in separate answer — books.

u@d — | (e—ullfl — sreureaflusd) / Part - | (Bio — Botany)
(w#Qusirsar: 35) / (Marks: 35)
ey — 1 / Section — |

1. Syewerdg aflsrrésemsg alenwafldEsab 8x1=8
2. Qar@&siiul L preg ellsnL_saflsy Blaan sghLmLw ool sow s

Baih0%0'%s GHIWTL_H_sT aflewL_ulsnerujd CFidsg) 6TSIS.

1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and

Write the option code with the corresponding answer
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1. wCurGsmiigeablst warhssasaflsr jemey e &EGrmbL L i
<) 10 <) 20 @) 200 =) 2000
Size of pollen grain in Myosotis is micrometer.
a) 10 b) 20 c¢) 200 d) 2000

2. wrugy susnaswip AABDCC swuis Qameime_ STUTLD TS5 U SWTT CoH61_Saner o_HeuTd@n?

1) epsir ) BreTE 8) peirug) ) Grsim®
How many different kinds of gametes will be produced by a plant having the genotype AABbCC?
a) Three b) Four c) Nine d) two

3. DNA-sweu ECoRI getrig &@iilL_ip

<) AGGGTT <,) GTATAC 8)) GAATTC 7) TATAGC
EcoRlI cleaves DNA at
a) AGGGTT b) GTATAC c) GAATTC d) TATAGC

4. Qer@ssuulLsupple sfurst QuTrBSssSamear Gibes0H ssab:

L - | Ll
QPQ AEGSI e A | @dips Ces Bam@d o 5@555mTs wTrnigeH

2. | Goumyuimiq ip 560 B | Qesvasaflsir o ulliGsuglu wpmid osmwinilusd
LT HDHBISEGT

3. | s ay C | wussrourors sustrégm g 2 ufigerer Gasvsaflsr
LIoooTL|

4. | Caupur@mige D | oueriiiy esmsslp@s Coipes@5s srourdsmo
LT HMIGH6V

1 2 3 4

< C A D B

<) A Cc B D

@) B A D C

/F) D B c A

Page 2 of 11



QB365 | Fihttps://www.qb365.in/materials/

Choose the correct match from the following.

Column - | Column-|l
1. Totipotency A Reversion of maturei‘ée"s into meristem.

2. Dedifferentiation B Biochemical and structural changes of cells
3. Explant C Properties of living cells develops into entire
plant
4, Differentiation D Selected plant tissue transferred to culture

medium
1 2 3 4
a) C A D B
b) A C B D
c) B A D C
d) D B C A

5. 9alléGarsens sri QFugrss sgliafsflar geme Berd GleunmlHaleni_L1igTEib.

) 200-700nm =) 300-700nm

@)) 400-700 nm #) 500-700nm
Photosynthetically active radiation wave length between the range of

a) 200-700nm b) 300-700nm

c) 400-700 nm d) 500-700nm

6. waTwd srwsmyrewls QUInIGSanT OaThHiEsliul L s Doisend @ Flwurer alle_ulamers
Bziho6l%H%HHa| D,
anpmt (i) : Camigo BMev suenibg srenriiu@E g wHmId @)ai Fiflsv 2_siren gy derfleenesr
wppBIIb ClotefGuiHnIsng!.
ammmi (ii): @)g Bogt BTL 14657 2 TETL_(BS STeuyiomGLb.
1) sy (i) swTaTs) Wi ampy (i) sarprars)
%) s pmi () wHyid 5o Dy (1) G @ oo pisEnd Fhlwrens)
B) s () poupreng) wppiis s ppy (i) sumens)
) gapmy (i) epaoyo (i) FGraw®Gw souprearg.
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For the given statements with respect to Eichhiornia select the suitable answer.

Statement A: It drains of oxygen from water and is seen growing in standing water.

https://www.qb365.in/materials/

Statement B: It is an indogeneous species of our country.

a) Statement A is correct and statement B is wrong.

b) Both the statement A and B are correct.

c) Statement A is wrong and statement B is correct.

d) Both the statement A and B are wrong.

7. £pssanr_sunpled sflursll QUTHHESTS @) et 51517

9) GaErgemiw =
o) Blevg LNfL -
B) Qpev .
FF) Ly FT G TLosv -

anlingln
Franleure
THesTT

dyrfsT

Which of the following is incorrectly paired?

a) Wheat -
b) Milch breed -
c) Rice -

d) Pusa Komal -

Himgiri
Sahiwal
Ratna

Brassica

8. sflwrer Gewamrenwsd CziholsRESa D

) @rouir -
9),) FFuND -
@) sl emL -
FE) LOF & dm 1P -
Find out the correctly matched pair:
a) Rubber -
b) Dye -
c) Timber -
d) Pulp -

Gagmrflur Gymiswe r
rGFrssflur @lsvritllsry
SRFLIFON LUTLISHLIT

oS aflur LG Asiusssrsndsry

Shora robusta
Lawsonia inermis
Cypress papyrus

Hevea brasiliensis
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fifley — 11/ Section ~ I

ssCaaild BreiE aflarTasensd allaLwellsseaib. 4x2=8

Answer any four from the following questions.

9. w@alwss STauTISaieT &HayaT H& apLTalmss STOUTEISETIGT & (HQpeuT Slaailed mbg
Caipu@Ans Thpis QarardFisam? o kser el eow Blurwl U@ GBS LD,
The endosperm of Angiosperm is different from Gymnosperm. Do you agree? Justify your answer.
10. Queir_sSlsit oy itasear @b saviL_Pihs plailiied 9jflehissT wireni?

Who are rediscovered Mendel's experimental works?

1. UV gl VT VEET- sUHTWINI
Multiple Alleles-Define.

12. GaumiuB5g15 — 2L 60 pasvsri Caunur®, Gl L& BaHFTT Gaumur(®.

Differentiate somatoclonal variation, Gametes clonal variation.

13. sraurassTre) £rawssiuE e TETDTE eTeHTerr?

What is called phytoremediation?
14. GFTest HIeMaT TN TSV TG SAT 7
What is ozone hole?
Lfey — il / Section — I
TG sty eflestTd s Ens@ allawLwefldbsaf. 3x3=9
afleorm sreir 1953 &L Lrwiwrs allent_weflss Garest(hib.

Answer three from the following questions.

Question No. 19 is compulsory

15. Qgr_rsflwpp CaumurGsener, QpriFfwmrer GaumiLir{HsenL et CaumiuhS51%.

Differentiate continuous variation with discontinuous variations.

16. WTLIEI QIEHTLIL LD sTHIMTEV sTETSIT? GS65T LILIGTHEN6N 6T(L0S1%.

What is gene mapping? Mention its uses.
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17. evva et @ s LTw pRRGuUflEE 9w Anbs TOEHISSETLL_TED-0lendEs.
Lichen is considered as a good example of an obligate mutualism. Explain.

18. Lpsaeor_ allaurtissmers Garar® s Nrll® euedrbg! s haswrs alars@s. o ulliflsrmigsef s
sTawTemfisenas GlarREasiu_fstengl. Lumbg 25, sreurmssr-500, wwed whmib stedl- 125+125,
umiby wHmID spewtrer-00+25.

Draw a pyramid from following details and explain. The quantities of organisms are given: Hawks 25

and plants-500 rabbit and mouse-125+125 snake and lizard — 50+25 respectiffely.

19. uullir Qupssggler HMlsECaranssnsnts unHy Baili oMhgl G\ mevsrt_G)gesrsor?

What do you know about the objectives of plant breeding?

ey — IV / Section — IV

Imers g alleTTdhsEhs G aflew_weflssHayLb. 2x5=10

Answer all questions

20. 9y) 3&HS LUL_SHIL 67 @ellehT HysmIsnu afleur.
a. With a suitable diagram explain the structure of an ovule.
(oysvsv g [ or)
o) sl Qs Yy eTTMITSL eTssran? SyauNHMlest LWSTLIT(RSEDET sTAPSIS.

b. What is single cell protein. Mention its application.

21. &) B upmrsGenm Fienen 9 CTHSE I B6T BTSN aflaTESHaLD.
a. Suggest a solution to water crises and explain its advantages.
(ysvevg / Or)
) FMISTe WIS THTDTEL 6T ? HBENIHL I QUMSHET WTeweu? @eiGleouTssrym @ io
STRSHIEHHTL (B HHS%.
b. What are millets? What are its types? Give example for each type.
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u@d — ll (e_ufifl - aflvmudlwed) / Part — Il (Bio —~ Zoology)
(vQueinrssr: 35) / (Marks: 35)
ifle) — | / Section -1

Golay : 1. Sewarsg allarrdaens @ allsoL wefl&Esajtd 8x1=8
2. Qar@ssiiul_ L pretg aflewL_saflsy Wlaayh sThHyemL i aflswt_eowd
Caih s Bss GUUTL_ BT aflenL_ullewarujio CFidg sT9H .
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four aiternatives and
Write the option code with the corresponding answer

1. SpasavTLsupHMIET 6181 STwer W ew QurMdg @l ig Fapid aflenidlesrid?

9)|) Heuenem 3}) &OT
. 3)) Qabwns @ w)GEmf)
Which among the following animals exhibit ovoviviparity?
a) frog - b) shark
c) sheep d) hen

2. 21-aug yemgGamibl stesrug:
) Layeir Aesr_Gymid ) ur et Fer_Grmid
@) Liewri Aesr_Bgmid w) Slenemested Gl Hsdr_Grmid
21st trisomy is observed in
a) Down’s syndrome b) Patau’s syndrome

¢) Turner’s syndrome d) Klinefelter’s syndrome

3. FpsaTampid GMUTE SN Ths GHUTEH CwsHCuralienets GMUILLIGSDE?

o) AUG 9,) UAA

@) Vuu w) AUC
Which among the codon codes for methionine?

a) AUG b) UAA

c) UUU d) AUC
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4. o _gefRwr uraTArTaing sTeiTUg) 6THS CHTiIssTaTS: STTewh?

<) wGeflwmr 3}) WTHETSHSTEL GHru
(3)) sTevr HyFTI &) sitéa eflwurg
The disease caused by Wuchereria bancrofti is
a) Malaria b) Filariasis
c) Kala-azar d) Sleeping sickness

5. £p&ETETUMDDIST 6THS Fevewnt FHlwraL Quir jb S wjsirengi?

) 4or&EGaTeLiwr urellevGuryd - L 1q Feng et

3},) SEVLIT VIS BT = Dyt M ublevid

@®) Hermrerviggund Ny Asid - & s CarrervBuimiisst A
®) VL QIriiGLT&T & &6 - ALMg gublevtd

Which of the following pair is correctly matched?

a) Trichoderma polysporum - clot buster

b) Aspergillus niger - butric acid

c¢) Clostridium butyricum - cyclosporine A
d) Streptococcus ' - citric acid

6. wmssie LIUGY AAFME AP PSETPSD Bleuihsl GlFwniic L Gpmut

=) SCID %) YDHDGHT!

@) AIDS m) Biwd Sleanphd
The first clinical gene therapy was done for the treatment of

a) SCID b) cancer

c) AIDS d) cystic fibrosis

7. @bl L sTTLEG A T@SSISETLB&6 &Gl ClHTH\ES UL BETereT.
SeuDIiled sTemeu LA euTipey GamTabTL_snau?
9} ABia b wHDID WTET S wesligest wHmIh HrL Tl
@) sl pewT® LOMID &L HeTwHd &) 2 Plehd Beir wHpId FoT B
Given below are some examples for population interactions. Which among the following
shows mutualism?
a) Lion and deer b) Man and tape worm

c) Hermit crab and sea-anemone d) Sucker fish and shark
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8. gFlseralley sTemriiu@GIL LKW BeVsv suTw
I}) BTTUSTENL. Y dene(R) 9y) 1558z e0r
@) BH55 WL YHemerv(H k) eDBLT6N 9 demen(h
The most abundant green house gas is
a) Carbon-dioxide b) Methane
¢) Sulphur-dioxide d) Nitrous oxide

ey — 11/ Section — 1

sTemeuGuigylid prest @ alleorTeEsends@ allewt_wefl. 4x2=8

Answer any four of the foliowing.

9. wefls allbg GFsvadsr semetiuggluller gemwlisnu afleuflssayib.

Describe the structure of the head of a human sperm.

10. werfls wrLeMIS L Ggler ng,@u"D BreirE Apliflweysamers @noUlGs.
Mention any four salient features of Human Genome Project.

M. 90 @cllurniu@ wEHs WHDID ST WPUS FTAUTSHMSS Fnmis. B HHS sTeueuTm
wefls 2t swev UTHSHDSI?

Name an opioid drug-and its plant source. How does the drug affect Human body?
12.Gymerdl  eTamuid wrilwey wrHpplul L. useler LT FreTremt usealler Lmredsd (b

steueurm CoumiuGEmg17?

How does the transgenic cow Rosie’s milk differ from normal cow’s Milk?

13. dipiy ef s wHmid Gmiiy efssms Couniu®ss1s.
Differentiate natality from mortality.

14. 2Gamesir UL VF AswgH ey 6TaTMITED 6TsaTenr? 9! sTeusuTm THUGSE MGI?

What is ozone depletion? How is it caused?
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1fifay — 111 / Section — Hi

TGsIn apeTy allerrasepsd allan_welEseayn. SeunhBlsd aflerr erevsr 184@ s L Twwrs
aflen_wef&EsayLb. 3x3=9

Write any three of the following in which question No.18 is compulsory.

15. derrervGuomgwgslesr uev Ulsmey (pewmemwt uL_Ggi_est afleuflEseyib.

Explain multiple fission in Plasmodium with a diagram.

16. @lr$56 sdlay wHmib sorfidlwr gyl Grriisefler o_HaTssd wHDID CaupiuTBEeer

TSI,
Write the causes and the differences between Haemophilia and Thalassemia.

17. s1fleyBflev @ resr_mib Blewev a&HHlafiny unm eflerd@s.

Explain the secondary treatment of waste water.

18. Qrwmpenswirs weafls @ersedler o Husbg) Geiuyn wampullst Ly Blepausener aflardgs.
Explain the steps involved in the preparation of human insulin artificially.

19. @16V 2 sirurgisTiy LPHDID G GauslurgiaTiy yslwapan THSS5ISSTL (5 6L 6T

CamiuB $sis.
Differentiate in-situ and ex-situ conservation by sighting examples for each.
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difley — IV / Section - IV

WSS aflesTiTe: % Ehd G allew_wefldHsHeyid. 2x5=10

Answer all the questions.

20. 9)) gGaaid Rbs BaTUCLHSES gewan CsTflm usiseear (ART) aflors ss.
a. Explain any five techniques of Assisted Reproductive Technology (ART).
(66051 / OF) :
<) i) allfl ufessrrww wHpb Gl ufaTTwd BlapsFAsamner sT(HSEISHETL (HEHL 6T
allend &as.
b. i) Differentiate divergent and convergent evolution with examples.
ii) Lrreflesflwgglerr LvGeumy 678 T HHGI5EH6T WiTewou?

i) What are the various objections to Darwinism?

21. 9)) WemrsvGumigwgdler surpsHens &ipmdlullener allerds.
a. Explain the life cycle of Plasmodium.
(oysv6vg1 / Or)
<) QeutiuwessrL i uGlseaflsy e ullflwusveuenss Herenwulles C1F Lewiod:dTesr
&HITT 6301 )% 6NN T M.

b. Mention the reasons for the richness of biodiversity in the tropics.
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